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10.

IN STRUCTIONS

Answer all questions,

All questions carry equal marks.

Only ene angtver is to be given for each question.
If more than one answers are marked, it wounld
be treated as wrong answer.

Each question has four alternative fesponses
marked sesially as 1, 2, 3, 4. You have to darken
the correct answer.

There will be no ncgative tnarking for wrang
answer.

The candidate should ensure that Roll Number,
Subject Code and Series Code on the Question
Paper Booklet and Answer Sheel must be same
afler opening the envelopes, In case they are
different, a candidate must obtain another
Question Paper of the same series. Candidate
himself shall be responsible for cnsuring this,

-Mobile Phone or any other cleotronic gadget in

the examination hall is strictly prohibited. A

eandidate found with any of such objectionable

matenial with him/her will be strictly dealt as per
rules.

The candidate will be allowed to carry the carbon

print-out of OMR Response Sheet with them on

coniclusion of the examination.

If there is any sort of ambiguity/mistake ecither

of printing or factual nature then out of Hindj

and English Version of the question, the English

Version will be treated as standard,

Warning : 1f a candidate is found copying or if
any vnauthorised material is found in
his/her possession, FLR. would be
lodged against him/her in the Police
Station and he/she would liable to be
prosecuted under Section 3 of the
R.PE. (Prevention of Unfairmeans)
Act, 1992, Commission may also
debar hinvher permanently from all
future  examinations of the
Commission.
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1

[Zciid
wh ww & Fw dfe | .
TR A A wR
TlF U B P 0% @ we S|
% § a1fuss 3at 3 &Y qon F usA B owe @ W
INF WA |
Wel W97 % =t sfewar ot B T & Rt e
1,2, 3, 4 oiftra fipm v ¥ srenddt o) sec 9@

- T ® wE WY
, e 3R % T e afe 7@ R swom

s QT UE ST Ue & s ol A @
Tt wliendt @8 ghifvae a7 o 5 owh o
H-9= GG O B w9t wew e @ Ry
HNE G U gRamr A Wi aifa ¥ | ek B
Maﬁﬁm&uﬂ—wﬁ#@ﬂmwm
-9 foeE e w & PO T & W
forarlt anaell &t 2nfr |

AIHS B udl @il O & o gk 3
T oiger atlta ¥) afy fml snelf % qre oy
@ aivia Il et & & swb Rreg amitr @

- Froargat srefard & wmad -

oTRedll N FT T N o e S why A
AW W Hwy ¥

10. =i BFft wew ¥ fell W & D6 T @ auwE
TEN Bt FR B A wew F R qwn S e ¥ A

IR TIET 9 E |

S R A el T @@ TweEr whar ¥ wm

TFE O § B oriage wevh v W d
- o9 el & e gt & wabred ot w0l
e o o, A, 4. (orgfem W o8t resum)
P, 1992 % Prm 3 % qeq ey &
ST e & e AR onpelt ) whrsg F 61
el o @ g ghemel § Ralls a5

awl ¥l _
(MDY tContd..



P is a 16-bit signed integer. The 2's complement representation of Pis
(F87B),s. The 2's complement representation of 8*P is

(1) (C3D8)6 _ (2) (187B)

(3) (F878)y¢ (4) (987B)g

pum 16-Re w1 Rl T T, P @ 2 i (F87B)ig © qr 8*P
&1 2's HEAEE F AW 7

(1) (C3D%)6 2y (187B)g

(3) (F878)s (4) (987B)g

How many nonempty proper subsets are there for (1,234 7
() 16 () 14 .

(3) 8 4y 2

(1,2,3.4) % el Wey gEHE F a7

(1 16 o 2 14

(3) 8 : (4 2

The message are formatted strings composed of
1 A receiver object
(2) A message selector

(3) A sequences of zero or more arguments pof
(4) All of the above ' __MI,...,.”
ﬁ&msﬁ'%%‘r@ﬁaw@rm% |

1) waﬁwm
2) g we g
(3) sﬁﬁaﬁ'{mm‘ﬂﬂtzﬁrq«aﬁn

(4) - Sodw R

A pa{h in graph G which contains every vertex of G once and only oﬁce
(1) Euler tour ' - (2) Hamiltonian path
(3) Eular Trial (4 Hamiltonian tour
wem_mu,ﬁﬁWGwmmﬂﬁa@w%a‘s% [
(1) 4@ LW (2) ¥AwehE T
(3) T TR (4) whEd =R

A 7-bit hamming code (even parity) 0001001 for a BCD digit is known

to have single error the encoded BCD digit is .

(1 3 () 5

3 9 4 3

7 fxz ¥R A (@8 FErEy) 0001001 BeD dEn & e I & [T
wF1 S ¥ @ TEees BCD dEn ¥

1 3 S @ 5

3 9 @) 8
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If the records to be sorted are in auxiliary storage, sorting is called

{1) Internal (2) External
(3) Stable (4) Database Sorting
a Ry, ol @ ¥ 8¢ W ¥ @ T Al wed ¥
(1) e _ (2) U™
@) BEw (4) sERE |
7  Half adder is an example of
(1) Combinational circuit (2) Sequential circuit
(3) Asynchronous circuit (4) None of these
% T feum sawwl € d
(1) HIEMINT Fihe (2) faEmw wikhe
() Ul wibe (@) S X ¥ wg T

8 Choose the correct answer for the experssion (A4+ B) (3-&-5):0

(1} The statement is true
(2) The staiement is false
(3) Expression cannot solve
(4) State is not defined

Ty (sEe) (4+B)(A+B)=0 & W X ghm

(1) wuT §F T

(2) HYT IEH :

3) smgam‘aﬁmm—cﬁ
(@) we wfonftya T8 2

9 A typical OLMC consists of
(1) Gates, multiplexer and flip-flop
(2) Gates and a shift register
(3) A gray code counter
(4) A fixed logic array
qomaEar OLMC & wffere ¥
() rew, wmeEy dR -
@) Weg o uw R e
() UE T BHS W
@) wr frew wiws W
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Ifal 0f-16 decoder with active-LOW outputs exhibits a LOW on the
decimal 12 outputs, what are the inputs ?

(1) Ag Ay Ay Ag = 1010 (2) Ay Ay A Ay = 1110

(3) Ay Ay Ay Ay = 1100 (4) Ay A, A Ag = 0100

ot uRRE W oTSegR & @ w16 REsy, 12 Sdew omeege
w4 F veRfa B ¢ @ sigeE F: g 7

(1) As Ay Ay Ag= 1010~ () Ay Ay Ay Ag = 1110

(3) Ay Ay Ay Ag = 1100 4) Ay Ay A} Ap = 0100

11 Power set is
(1) A set of all elements
(2) A set of nodes and with given degree i.e. power
(3) A set of all subsets
(4) Null set
@R ¥ ¥
(1) @ s W A
@) fu ge fol ok v ¥ W ey @ w2
G) w1 wEde @ W€ ' '
@) @ ¥

12 Sending acknowledgement of “previous packet with next data is .

(1) Sliding window (2) Bitstuffing

(3) Pigeybacking (4) . Backlocking |

o s % we fme W W wia wen ¥

(1) e R @) et

(3) Relr AR @) ¥
13 Friend function should be declared in the __ - pzirt of the class

(1) public (2) private ; -

(3) both (1) and (2) - \,@‘)' anywhere _ w

¥= wEE YHIE T wHd T o % AW H

1) e @ W 4

o wode @ saa  EEer

=%

[NWNHY 1Coned...
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What will be the output of the following programs ?
main() '
{
static char a[]="BOMBAY",
char *b="Bombay"; :
printf(in %d %d ", sizeof(a),sizeof(b));

}
(1) a=7 b=7 2) a=7, b=2
(3) a=2, b=7 (4) a=7, b=0
frfoflaa v w1 sngege @ hm

main() v

{

static char a[]="BOMBAY";

char *b="Bombay"; o

printf("Mn %d %d " sizeof(a),sizeof(h));

} o
(1) a=7, b=7 (2) -a=7, b=2
3) a=2, b=7 4) a=7, b=0

The feature that allows you to use the same function name for separate
functions that have different argument lists is called

(1) Overriding (2) Overloading
(3) Destructing - (4) Constructing

ot fysioen <t f5 @ weem @ W i dwmm ¥ o owgE §

(1) ez gl ' (2) &EY Wit

(3) e (4) @R

In E-R diagram, the terms cardinality is a synonym for the term
(1) Attribute (2) Degree .

(3) Entities (4) Cartesian

E-R fom #, #awl &1 99 Aawe ¥

(1) tdege (2) fei

(3) TN (4) wrElE

03/ COMPSCI2_A] s IHIIRER 1Cone.
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18

19

20

Which of the following is a structure that provides faster access to the
rows of a table based on the values of one or more columns ?

(1) Table @) View |

(3) Index 4 ‘None of the above

frag & ¥ B deam ¥ W A B A W fh oww wm su sl H
R P ¥ owEe qolt ¥ Suwsy weERl ¥ 7

(1) =« @ =

(¢) =9 () SwEr W ¥ By T

Protocols SMTP, IP, ARP, HDLC, FTP, Leaky Bucket, Distance Vector are
for layer(s) respectively. Physical Layer is considered as layer 1 and
Appligation layer as layer 7.

0 1234567 Q) 13,72,733

(3) 6,63,4215 @) 7.6,54,32,1

-sﬁﬂzﬁa SMTP, IP, ARP, HDLC, FTP, Leaky Bucket, %@Rcr FEL B

%lﬁﬁ%&ﬁf%ﬂ'{w%@m 1 @ Twihee wax 7 |
(1) 1,2.3,4,567 () 73,7.2,733
(3) 6,634,215 @) 7654321

- Problem arising from redundancy are addressed through the process called

(1) Data manipulation - (2) Fragmentation

(3) Decomposition . (49 Al the above
qR-aR B 4 e ond ¥ WAE F T WE ¥ BeWEI
(1) s AR 2) FEEEIH

@) Remfae @) Sudma @l

Once a sequences is created, it is documented in the

(1) Database (2) Data Table

(3) Data Dictionary (4) Data Document
% §X W9 o 9 o a5 Reed yefed @ ¥
(1) 3R 9" (2) == E|

(3) =@ Rl (@) s S
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21 Three algorithms do the same task. Algorithm 1 is O(\/J‘_v' ), algbrithm 2

22

23

is O(N), and algorithm 3 is O(logy N). Which algorithm should execute
the fasted for values of N 7 '

1 o(VN) 2) O(N)

3) O(log2 N) (4) none of these

I il o & am w@ ¥, gwiten 1% O(VN), e

2% o) i TEIRE 3 ¥ Oflogy N) B-Trerifian N 91 <1 semsh

% e o5l 4 sm s | '
1) O(VN) @ O(N)

() Of(logy N) (4) SR H ¥ FE WS

During direct file processing, if the index is in record key sequence, then
which is the most efficient procedure for locating a key ?

(1) Binary search 2) Secjuential search
(3) Linear search (4) None of the above

iy e TR ¥ A, o sRaw N W Redew ¥ A @ (key)
F N & MY BE- w9 ol wiwar ¥

(1) wE @) R v
@) e gd (4) Suiem § ¥ @E @

In classical Booth's multiplication algorithm, coding for the decimal number
multiplier 57 is

(1)  0+100-10+1-1 (2)  0+100000-1

(3) 1-100-10+1+1 (4) +1-100+10-10 |

Tl g TEiien ¥, 3EE ey melwER 57 W e wm ¥
(1) 0+100-10+1-1 (2)  0+100000-1 '
(3) 1-100-10+1+1 | (4) +1-100+10-10

i3/cOMPSCR2A] T RN (Conc-
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To find shortest path in weighted graph or network, which of the following

25

26

27

algorithm is not used.
(1)  Warshall's algorithm (2) Dikastra algorithm
(3) Kruskal algorithm "~ (4) None of the above

AT A A ead ¥ wIW B N (path) de b fwe, e F

B~ TENEH Swar S8 gk
(1) aRIE TETREH (2) Teleen gwifey
(3) e TWIIEH : @) Ul ¥ @ wiE T

If every record of a file contains pair for the same sets of attrlbute the

ﬁle is said to contain

(1) Identical file ~ (2) Homogeneous record

(3) Homogeneous file (4) None of these

T 7w B ¥ e fa d w92 5 wie b S a3 ¥, e
BEE @l ¥ _

(1) oEREEA wEA 2) emfatEw fae

() eeftutEE wEd (4) ST ¥ ¥ @5 T8

Nyquist theorem to calculate maximum data rate fs
(1) -2H log, V bits/sec (2) H log, V bits/sec

@) Hlog, (I5/N) (&) 2H V(1+S/N)
(1) 2H log, V bits/sec (2) H log, V bits/sec
(3) H log, (1+S/N) @) 2H V(1+S/N)

Which of the following features is related to Virtual Circuit ?

(1) Connection oriented

(2) Each packet sent is routed independently of its predecessors
(3) Successive packets may follow different routes
(4) Congestion control difficult

Frefafee # & rT-d fadvar agor wibe ¥ wafem ¥
(1) @¥wE sfde __
(2) T THe B WA W Y TEes W UEr

3) WWWWWWW%
(@) Eﬁﬁrmaﬁﬁﬁtﬁ%ﬂﬁm
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28 Consider the OSI standard for LANs

(1) The OSI network layer is subdivided into a MAC layer and a LCC
layer.

(2) The OSI data link layer is subdivided into an Ethernet layer and a
token ring layer.

(3) The OSI data link layer is subdivided into MAC layer a LLC layer.

(4) The OSI physical layer is subdivided into an Ethernet layer and token
ring layer.

W%ELAN'stSIW%

(1) OSI Yea& ¥ox, MAC WX & LCC wax ¥ fawfea ¥

(2) OSI @ e way, O 99¢ o) d@t o way o fanfsa §
(3) OSI @ Riw dax, MAC &% &R LLC ¥

(4) O8I fefma sex 3o wat o) I T o F ffsm &1

29  Which of the following is a key factor for preferring B* - tree to Binary
Search Trees for indexing database relation ?

(1) They can be stored in Disks.

(2) Searching and Insertion is Faster,

(3) Special structure to store Primary Key.

(4) Binary tree is not secure as B - tree.
ﬁﬁﬁﬁﬂﬁﬁﬁﬁﬁ—mﬁ(key)famormﬁﬁmﬁiﬁw%ﬁﬂ
*otree ¥ gAY TH A N THT F@ T

(1) 9 feww o @ fFg o 9&d ¥

@) T 3R swE won o A e ¥

() wEAY W B WX B F WU Q9w GO

(4 =l A, BY - & S g & ¥

30 Cryptography requires each user to have two keys : a public
‘key is used by the entire world for encrypting message to be sentAt\t}_Dt
-user and a private key. Which of the user needs for decrypting message‘?

JQ) Public key - (2) DES:

“(3)  Secret-key . - ' “) None of these
\ﬁﬁ@m@r%ﬁﬂqmw%wa’rﬁ(mﬁ%wma&(kw)
W 5 GER H WY B UAHT @Y gY@ Woml § oY WiEae @ (key)
e T Wy W Ree st wE

(1) wiw @ | ) <HwE

() fudpe—ai 4 wode ¥ ¥ @ T
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Which of the following is not a type of assembler ?

(1) One-pass ' (2) Two-pass

(3) Three-pass - (4) Load and Go
e ¥ § SNy WBR & Qe T8 & ?

(1) 19w Q@) W

@) fum @) we W

Lexical ‘analyzer transform an input stream,into
(1) Regular expression (2) Sequences of tokens
(3) Binary : (4) Symbols

(1) TYEX THTH @) Tw @ R

C () S (4) FRewg

"YACC is available as a command {utility) on the

(1) MINIX (2) UNIX

3) 'DOS : _ (4) None of these

YACC Trae wHIvS q%ﬁlé‘r % fag Sywew ¥

M MINIX () UNIX

(3) . DOS (@) Srw ¥ ¥ B

Which of the following term is related to top down parsing ?
(1) Shift : (2) Reducing

(3) Left recursion (4) Precedence relations

e & ¥ B o Slu—smd tmitr (ufem) o a=Pug & 7
() @) TR |

(3) AT TEw (4) gIm W Wt

3
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35 Suppose in programming language 'C' the union is declared as
union |
{
float x[3];
char c[10];
int v,
}num;

Assume that float requires 4 bytes, char requires 1 byte and int requires
2 bytes, the memory space used by the variable num is

(1) 24 bytes _ (2) 12 bytes
(3) 10 bytes - (4) 22 bytes
A B sfi ' ¥ qfree W R Tl ¥
union
{ .
float x[3];
char c[10];
int vy;
}num;

W%W(ﬂoaf)ﬁ%4ﬁlﬁzﬂﬁq,aﬁm(char)aﬁlmﬂr%q
oY T2 (inf) B 2 96 @U@ um dEw F WMo ReEw AEE W

SodT # g o
(1) 24 9B ' (2) 12 sizg®
L (3) 10 9@ (4) 22 9w

36 Suppose that a process is in 'BLOCKED' state waiting for some I/O service.
When the service is completed, it goes to the

{1) Running state (2) Ready state
(3) ~ Suspend state (4) Terminated state
¥ 7 i B ue MR wie 2 ¥ ¥ o el 10 fvamw Wt g B
| %maﬁa@ﬁa@%a‘rmﬁwﬁm%
(1) B Rz § Q) " RH
(3) @l wT ¥ (4) =MAe e ¥

@. ~ 0s/coMPSCI2A 1 I (Consd-
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If total complexity after micro analysis is 5;° + 1072 +1001+ 400 log #+10.
The Big Oh Complexity is

a2 ' | @ 3

(3)  5n+400logn @ 5P 1002 41000410

ol TS % 9 EXl Wﬁmﬁ ® Sn3+10nz+100n+40010gn+10
@ Big Oh wr=ifred ¥

(1,2 2 3

() Sm+d00logn & 5p 41002 +100n+10

38  In UNIX systems the user can change the access rights of the file to different _
users by using

(1) PID : (2) Chmod

(3) Head . {4) Tail

g R § oo wdn & Rred @ R g % R b e
awar ¥

(1) PID (2) Chmod

(3) Head (4) Tail

39  Which is not included in the UNIX file System ?

(1) Bin ~ L (2} - Usr

(3) Dev (4) Al of these
ﬁwﬁﬁﬁm@wwﬁaﬁmﬁﬁﬁ% ?
(I) Bin : (2) Usr

(3) Dev | @ S

40  Banker's algorithm used as
(1) Deadlock occurrence method
(2) Deadlock avoidance method
(3) Deadlock detection method
(4) Deadlock récovery method

Y TAINGH I F oo ¥
() I=Alw aHTg ale
(2) Sew wERsw wliw
(3) Seviw REm™ T
(4) Sewin Rl wlawr
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The full form of BPMN that is used for defining workflows
(1) Business Process Management Notaticn

(2) Business Process Management Network

(3) Business Process Modeling Network

(4) Business Process Modeling Notation

Bpmﬁﬁﬁﬁat%%’raﬁuﬁwﬁﬁmﬁﬁWW%m{u

| ¥

() TaE Wy dNede FRee
(2) farm wey dHade Yead
(3) e NEw e YeTh
(4) e Mg geft SR

42 The objective of testing is
« {1) . Debugging
(3) To gain modularity
RET H T B
(1) feafin
(3) vitreuwa thesr

(2)

@

)
)

To uncover error
To analyze system

el
fyen B s

43 McCall proposed which of the following quality factors
(1) Correctness, Reliability, Usability, Integrity, Efficiency
(2) Maintainbility, Flexibility, Testability
(3) Portability, Reusability, Interoperability

(4) All of these

ﬁﬁﬁ%ﬁﬁ—ﬁﬁﬁi’fﬁﬂﬁﬁ%ﬁﬂM&anWﬁm%
(1) g, Ragad, e, =2, gq?ram?r

Q) ARAd, wEEE, TR

@) e, dgRd, TS

(4) SUUw /A

44 Which of the following is a step. of software désign model ?

(1) Data design
(3) Interface design

)
(4)

Architecture design
All of the above

Privfad ¥ @ qEsET Raw Wew @ ud ¥

(1) s= R
(3) F-%u Reawa

03/ COMPSCI22_A] 13
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The phase where quality 18 fostered into software is

(1) Analysis (2) Design

(3) Coding (4) Testing
Ww@m—mﬁw%'ﬁw@ﬁaﬁeﬁmm%
(1) weiEE (2) R

(3) @iET @) e

46

47

48

Which is the following used with database ?

(1) Data mining (2) EDI

(3) Credit cards (4) None of these
ﬁmﬁfﬁﬂﬁﬁﬁaﬁ?—mm%mmﬂaﬁ%

(1) SRR @) e

3) Hiee BEY @) v ¥ & B

Bridge, Gateway, Router, Repeater, works at 1S0-0OSI layers. L* indicates
all layers at L and above L. Physical Layer is considered as layer 1 and
Application layer as layer 7. '

Q) 1234 @ 24731
3) 4v321 (4) 214%3
ﬁlﬁ,ﬁtﬁ,lﬁ?{,WISO—OSI%’&TW'WW%'IL+WL
ﬁéﬁﬁﬁﬁﬁmm%aﬂtLﬁwéﬁr% ‘
QM 1234 @ 2431
@) 4+321 4 21473

Change-management policies define ‘which of the following ?
(1) The process of hiring new departmental managers
(2) The process used to maintain system components

(3) A text file used to automate the installation of windows 2000 server
or advanced server

(4) A database used to track network utilization over time

ﬁﬂﬁﬁaﬁﬁ—ﬁrﬁﬁﬁﬁﬁwvﬁ%ﬁqﬁmﬁﬂﬂﬁ%%?

(2)%@35@%?%1@—1@@%{9%@%{3@11 :

3) wwm'mﬁm'eﬁ%ﬁéﬁzooowweﬁm
gix § wua TR 8 ' :

@ wmwﬁ%wwwmﬁwmﬁu
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What is win 32 9

(1) Programs which are based on win 32 API
(2) Programs which are based on win 32

(3) Both (1) and (2)

. (4) None of these

P 32 = ¥

(1) ¥m st ®6 win 32 API X Fefx ¥
@) FIm S R win 32 e ek ¥ -
3 Q) v (2

@) SR ¥ & B @

Let symbols are as below, select statement represented by given symbolized
form

P(x) : x is a patient; D{(x} : x is doctor; L(x, y) : x likes y
Symbolized : (3x) (P (X)A(W)(D(y) > L(x, y)))

_ | » #1
(1) No Patients Likes Doctor

(2) Some Doctors Like all Patients
(3) Some Patient Like all Doctors

(4) Some Patients Like Some Doctors

qmﬁﬁﬁ%ﬁﬁ%%qw%,mwaﬁgﬁqﬁzﬁﬁqnﬁ%am__

A ¥

CP(x) : x 7@ AT %

D(x) : x TH S ¢

L(x, y) : x UHE &N & y @ _

fafea : (EIx)(P(x)A(Vy)(D (y)— L(x,y)))

(1) =8 G 789, s B gEe T8 e E
(2) B s ol WS oA v w ¥
@) I W ol TR & wwe w@ ¥

(4) 37 9w, FB SR & TEE HE T
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